H £ 0l & AFHSH & Ml A

02448 20ilo LESIH AIZAIS A

2A AMEAMS A
I AEHE 243t

ol AlBIBIRIAIZC F TR (ci9): H2l)
SA - BH - SRI(B) - MRAR - BAS Of v e HIDEY
A AR A 3,020,673 2,272,493 748,180
AEHY gdat 905,807 744,024 161,783
ANElg|ZAIE IF 2] 905,807 744,024 161,783
Alglg|2 fXl2tel 772,110 614,388 157,722
101 e124d| 80,975 77,218 3,757
M JRINZZ2XNSE s 80,975 77,218 3,757
OAlglg|2t 3 EH| I (3Y) 80,975
-JlZs 2,060,740 «38 122 74,187
-MEo 2 146,300 x3% * 122 5,267
PN y= ) S 84,4802 x3H 6L 1,521
201 erEa| 314,975 304,040 10,935
01 At 2t2l8l 57,775 49,840 7,935
onlzstE s 2,000,000 2,000
OEAMEHI ARSI 500,000& 500
OBAKIZX S2H|
8,00021*7& = 1004 5,600
OSEHAE SEAN M
500,000& 500
OFIIOHH Y422 (A015/2H)
495,000 123 5,940
OAgtH =2 (AI2I3]2t)
262,500+ 122 3,180
OJ2LAE HIEE=+2
1,000,000 1,000
OXHIINE FII8&E++3
1,000,000 1,000
OAR3H EA(Algg 2, HAER53]
) 375,000 x 12 4,500
OFANAL=UHEZ(AIZIE 2 2 20HA)
375,000 x 122 4,500
oM —& 300,000& * 12 3,600
OY24)| Y2AE AS A4E Y
1,000,000 1,000
O&=J| & SI18&7|, Hitl &Xt=
11,565,000& 11,565
OZd=AD| SRz 220,0002 12 2,640
O4g® z2ied o279
150,000 «8&H 1,200
OINEZN =5 2 FAIH
200,000& 200
OJIZHZ2TE BE+g
150,000 *32*23] 900
OsZJl=Al2ely] 500,000& * 12 6,000
OFA22IE IHE A& 1,980,000& 1,980
2 =234l 257,200 254,200 3,000




SAAIEAEA
I‘Iil-l: }\l/del:lo iE S;ZI‘
SR ARSI 2AIE Sl EH 2t EEREED
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
OXZ=27Y & S|
7,000,000 7,000
OXtg =Xl 1,500,000 1,500
OZAIARS(AIRIE2)
3,900,000& 123 46,800
Ol 1,400,0002 *12& 16,800
OTIIZ (AR5 2t) 8,000,000& 123 96,000
OAIEZHISAEI(Y - e B2 & SEAS
) 5,000,000 5,000
OAEEHISAHI(H22)
12,000,000& 12,000
OAEZHISXIBI(EI], I, A8, S8 5)
15,000,000 15,000
Oy RUJIAR X2l
13,000,000& 13,000
OoRUsE =La]EIN]|
8.,000,000& 8,000
OAgotdE 2| 100,000& 100
Ogt=2st0=al2t Agsl gl
5,000,000 5,000
Ostad s ¥2+ES3H| 5,000,000& 5,000
OAglal2t U - 28 #AEH(23])
26,000,000 26,000
203 R =2 3,500 3,500
03 AT ARSI 3,500 3,500
ONEAIRA AIHEZIAREZY|
3,500,000& 3,500
206 =4l 2,000 2,000
01 MHZHl 2,000 2,000
B8 223 1,000,000& 1,000
O&IIAMN £2F 1,000,000& 1,000
401 AlEHIZ R0 345,660 163,000 182,660
01 Al&ZHI 345,660 163,000 182,660
OAlglzl2 L HESAt 14,000,000 14,000
OAlgIg| 2t 2BAIEE FLAATH(AED])
14,410,000& 14,410
OAlglgl2t A2 FD|tEE A (GHEH])
2,750,000 2,750
O&a4 d2+I] M3l
7,000,000 7,000
OAl2lgl 2t =XHE OtAZ 2
300,000,000 300,000
OAldlel2t SAHY A NSEL
5,000,000& 5,000
OS4la Ups BiE el mAl (14])
2,500,000 2,500
405 AHoHFSH 25,000 64,630 239,630




A AEAA
ZE: AN 25
CHol: AlRISIZIAIE O] H=Ee (cHol i 2l)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
01 ML SEFHSHI 25,000 64,630 A39,630
O S2RANI| 7 600, 000 *5H 3,000
OCCTV 201 Ex(54) 6,000,000 x 14! 6,000
O&AlY 2S5l 00 Xl
16,000,000 16,000
FaE 2atsl2 2e| 133,697 129,636 4,061
101 el b| 46,507 40,436 6,071
M IItHZ22 S8+ 46,507 40,436 6,071
A= E HE2e 2RY 5,768
-Jl23 2,000,7402x1H 2 4,122
—MEAF 146,300« 1Z+2& 293
5222 126,720 x 185 %10 1,268
R UPNESS= =D Sy 84,4803 «1H 1 85
Oa=AT 2ASERA 6,014
A== 2,301,002 x 15 +x2& 4,603
-SY2fE 132, 120 x1F+10 1,322
R RERIIY 88,0802 121+12 8
ONQLYT AHQR QLY (SR, L) 3,125
J122(eE) 3,657,5002 %120 7,315
EUNEDRAL(YE)
210,000 x 15 %10 2,100
-HARIEIITS(EH)
140,0002 %1212 140
E2(ed) 3,135, 0002 3% x4 18.810
HUARD2L(YR)
180,0002 *38 10 5,400
-Hlsssitsg 120,000&«3ZF 1 360
O2USETR2A & tE P T/=5H|
100,000 +6H 600
201 Let2A| 32,300 41,200 8,900
01 Ar2teltl 5,100 4,000 1,100
OMeI4+YT LSBT
5,100,000 5,100
2 SE==2gl 27,200 37,200 A10,000
Oae=AT=HAHZI| 7|
3,500,000& 3,500
OFAds|2 & =FHE A& H =X
15,000,000 15,000
Oal=FT A& HiaMUEHZ
2,700,000& 2,700
OSFXZZAIER XU 1,000,000& 1,000
O&FAds| 2t & =FE HA EY
5,000,000& 5,000
401 Al&BIZ20HY| 54,890 42,000 12,890
01 A&l 54,890 42,000 12,890




SAAIEAEA
T AL B3
CHol: AlRISIZIAIE O] H=Ee (cHol i 2l)
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
Ouel+E ti s1ZA 22w
54,890,000 54,890
2STANE =E 1,816,056 1,269,151 546,905
SSTAEY zH 2 1,816,056 1,269, 151 546,906
258 Al 1,816,056 1,269,151 546,905
101 @124H| 97,726 92,691 5,035
M IINZZEXNSE S 97,726 92,691 5,035
O2s¥ 0ort3H| A2y (2Y) 39,686
-J123(5A12H/55d)
1,291,660 «2H 123 31,000
-HEUS 91,7003 %28 x 122 2,201
-Of2t~& 5,280 x2H*222 * 12 2,783
PN =) S 52,800 x2&*11& 1,162
-RE2FsE 79,2003 2~ 16 2,535
O2s% FAzel A2 (2Y) 58,040
-Jles 2,060, 7403 «2F*12& 49,458
-—dEd= 146,300 «2H 122 3,512
-AXFEsF7I==E 84,4803 »2H 6L 1,014
-RLI2fg 126, 7202 +2F 162 4,056
201 Ler2d| 424,640 323,440 101,200
01 At22telsl 39,860 42,560 A2,700
O™AINE & A2 A3 sS4
8,000 3 » 1004 2,400
OMMAREHI(ZAK S)
1,000,000& 1,000
Oul2stE M=l 1,500,000 1,500
OJZHHl HE AR HE =S
150,000 x3E *23] 900
OS2 g4 4 SH(1HL)
20,000,000 20,000
OZd=AD| SRtz 170,000 122 2,040
Octliz & 82 =% = N&
1,000,000& 1,000
OTIItH x4+ 2(ZSE2SE)
300,000&* 12 3,600
OAagiotdze |42 (5E825d)
3,200,000& 3,200
OFAIRUBHIAIAE S99
210,000 * 122 2,520
Osdll FA2cl| 1,700,000 1,700
2 55228l 384,780 280,880 103,900
Oosgesd dIeks
10,000,000& «12& 120,000
OZEEsE dot=k 2=
8,500,000 122 102,000




2N

ANEAIS A

HH: REMAM HE
Sl 2STAIL HFBD (cie) 29
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
Oxtg s Xl 3,000,000& 3,000
(@F=Ent=2-1sl| 7,500,000 7,500
Ost&a Zekl + 165,000& * 128 1,980
OXZ=SF & A2yl 1,000,000 1,000
OAd&EHIR XLl 100,000, 000& 100,000
Oeleteld Hiah MAEEZ
300,000& 300
O&sIEx =+ 3,000,000& 3,000
O&EI| L A8 AP FEH| 2,000,000& 2,000
(OF3= 5= P=EN 1,500,000 & *23| 3,000
OQIZZACISXAZH(BeHA , X E5)
30,000,000 30,000
OCCTV= Xl 2e (] 500,000 & *43| 2,000
2y 4S54 A 4,500,000& »23| 9,000
206 M= 8| 3,700 3,700
01 M=Hl 3,700 3,700
OHN4d & 2% 22l 43
7,500& x200% 1,500
OM=N 2l 2,000,000& 2,000
OHM=J| & 4&H61013 dd Y 2
200,000& 200
401 Al&BIZ 01| 1,287,000 846,000 441,000
01 Al&HI 1,287,000 846,000 441,000
EZE2SE M2BAEsS JUHEMAA(A
gHl) 22,000,000& 22,000
OZE2SE M2BAds FIIerMEA (St
gtol) 3,000,000& 3,000
OZe2sd = L MdEIA
40,000,000& 40,000
OZE2SE AXXL WHI(14])
1,200,000,000& 1,200,000
OZe2st XNotass+ =3 At
22,000,000 22,000
405 XHotE SH| 2,990 3,320 A330
01 ML =SFSHI 2,990 3,320 A330
OZe2sT 13 24| )| 4X)
2,990,000& 2,990
FUHSHH AldeEs 2 23 273,010 232,558 40,452
FUMSHEH = =2t 273,010 232,558 40,452
I0X=HH FA2 273,010 232,558 40,452
101 el24t| 77,884 74,020 3,864
M IItHZ220SES 77,884 74,020 3,864
OZ0IM=HEH FAr2te] o2 58,040
-J|22(8AI12H/F5)
2,000, 7402 +2H 122 49,458




SN ASARIA
Z5: =eIHSM

2O SHE ALEE U 29
ool DOIFFME HRe (cHol i 2l)
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
-~dEd=s 146,300 x2E 128 3,512
-AXReRIE 84,480 x2H 6 1,014
-FEI2f=g 126, 7202 x2B « 16 4,056
O=2HMSHEH 0243 1R (EL1Y) 19,844
-J123(5A12H/F5¢)
1,291,6603 x 1+ 122 15,500
-dEs 91,7001~ 122 1,101
-OF2t=& 5,280 x 122« 128 1,394
PN I= ) S 52,8002 1+ 11 581
-FEI2f=E 79,200 x 1~ 162 1,268
201 Ler2d| 160,576 150,838 9,738
01 AlR2teltl 19,776 16,518 3,258
O&LHEHI AR EH 1,000,000 1,000
O3713dI] dx=(20h)
53,900 20+ 122 1,294
OFArZE|E HE MEH 2,640,000& 2,640
OZRA=AD| X2 198,002+ 122 2,376
OOlS U B2 B4 S M
1,100,000 1,100
OJIZHH 22 XHE AR HE ST
180,000 x3E #2323 900
O/IUT K442 (FLUHSHE])
210,000+ 122 2,520
OAYHHNBA+E (IDHSHE)
263,000 * 12 3,156
ORQASHE D0I1HH| 2
2,570,000& 2,570
O=UH=sHE sZJ| FAl2clbl
185,000 * 12 2,220
2 S22l 140,800 134,320 6.480
OXtg = Albl 3,000,000 3,000
OAZEHISABEI(A2) 12,000,000& 12,000
Ostyd & 4E3H| 5,000,000& 5,000
O3xJ| 2 7 5,500,000 5,500
OM==Z 4 800,000 <22 1,600
OU - A= F2EH 12,000,000 12,000
OV & SelAld, S8l =AE=H
2,500,000 2,500
ORUHMSHE TANARB(2HA)
3,250,000 123 39,000
O=LMSHE M2z
3,500,000& x12& 42,000
O=LUMSHE &ot+===
600,000& * 12 7,200
O0F& Al =Xl 11,000,000& 11,000




SN ASARIA
Z5: =eIHSM

20IHSHE ALSE Y 2
Chel: ROIFKMES FHB2 (SHo: &2
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
206 M=ol 11,700 1,700 10,000
01 M= Hl 11,700 1,700 10,000
OM=HM & 7Y 500,000 500
OXIITM A28 1,200,000 1,200
OF&J| ¢ 10,000,000 10,000
401 AlEHIZ S0 1,925 6,000 24,075
01 Al&HI 1,925 6,000 A4,075
O=dHSHE ANEESE HA ZX|
1,925,000& 1,925
405 KHAHFSH 20,925 0 20,925
01 AL =S F S 20,925 0 20,925
OAIE E0I4& X+
38,500 x50 K 1,925
O=UMSHH M2 A L OiEld
- 19,000
- 200,000&*35H 7,000
-XM=s2 IElE 600, 000& *20K 12,000
BYESZHI(AEAEL) 25,800 26,760 960
J12ZHI(AlEAIY &) 25,800 26,760 A960
JI2ZHI(AEAIE &) 25,800 26,760 960
201 23| 17,200 17,200 0
01 Ar2teltl 17,200 17,200 0
ORMEEAIR 22! 10,000,000& 10,000
OogA| 60,0002 x 1 =120 7,200
202 04l 5,000 6,000 1,000
01 SLHO4HI 5,000 6,000 1,000
OJl=2g =20l 5,000,000 5,000
203 =8| 3,600 3,560 40
02 2R R = 600 560 40
OF3IRIE =2 40,0002 *15H 600
M EXASHLRFAH 3,000 3,000 0
ORAN2ELRFTHI(1521015H)
250,00021x 12 3,000




